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31. (c) Given expression
= 2[1+ °C,(3v2x)? + °C, (3v2x)*
+9C4(3V2x)° + °C4(3V2%)]

. The number of non-zero terms is 5.
32. () (1+100)'* =1+100.100 +%.(100)2
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From above it is clear that,
(101! 1 is divisible by (100)? = 10000

(102)*° -1 = 100.100[ 100+ }
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. T, = n n-2| _ T, = n n-3f _
33. (d) T;="Cy(x) ( ox j and T, ="C5(X) ( ox j

But according to the condition,
-NN-1)x3x2x1x8 1
nn-H(n-2)x2x1x4 2

34. (¢) *°C,="C 3= 20-r+1l=r+3=>r=9.
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35. () == or 6t=6"6"3=6"3"
( ) 6 ncn_6(21/3)6(3—l/3)n—6

=n=-10
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36. (a) We have THl:ZlCr[aiJ [ LJ

5) ¥

_ 21Cra7‘(”2)b(2/3)r‘(7/2)

Since the powers of a and b are the same, therefore
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37. (b) We have (1+x)m:1+mx+$x2+_“
By hypothesis, m(n12— ) x2 = _%XZ

= 4m’-4m=-1 = (2m—1)2:02m:%.

38. () T,="C,=1 .. (i)

T,="Cjax=6x ... (ii)

T,="C,(ax)* =16x> .. (iii)

From (ii), ——a=6 = na=6 ... (iv)

(n-1)
From (iii), ”(”2‘ Ya2-16 .. )
Only (c) is satisfying equation (iv) and (v).
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39. (a) Inthe expansion of (%—%j , the general term is T,,, :mc{gj . (——
X
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Here, the exponentof x is 10-3r=4=r=2



40. (d)
41. (b)
42. (d)
43. (b)
44. (a)
45. (c)

.. The required coefficient :ﬂ.
256

L+x+x3+xH =@+ "1+ x3)P
= @+1°C, . x+1°C, . X% +....) (1419C, 3419, . X0 +...)

. Coefficient of x* =°C,.1°C,+*°C, = 310.
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Here Tlegc{X—] (_—]
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= % , this contains x° if 18 - 3r = - 9 i.e. if r = 9. Coefficient of x~

-2’
20
T.1="C,(3° @) =°C,(3)*"a'x"

= °C, =-2° = -512.

-, Coefficient of x" = °C,3%"a"
Hence, coefficient of x*=°C,3°?a® and coefficient of x* = °C,3°%a®

So, we must have °C,3"a?=°C,3%a°®

(10—r)[%j+r(—2)=0:>5—%—2r=O:>r=2

So the term independent of x
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In  the expansion of (
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For the term independent of X, 18 -3r=0=>r=26
This gives the independent term

9-6 6
9 3 1)} o 1
To = CG[E 3 " 03-6—3

16-r)+(-Yr =0=r =3, therefore fourth term will be independent of x i.e.
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+—], the general term s THl:gCr{




